YAMAHA

Installation Guide
Installationshandbuch
Manuel d’installation
Guia de instalacion

Guia de instalagéo

EIHEIEBA

SPEAKER ACCESSORY

PA-L1B

Guida all'installazione

X 2N
R¥&igm

T EftEHRAE

PyKoBOACTBO MO yCTaHOBKe

IT

J

BHEHE

¢ Pole mount adapter
o FRKIEAC

Included accessories / & Mt

¢ Installation Guide (this leaflet)
o ZEEiEE (AN

* Machine screw (M5 x 12) x2
o HlE8MEZ (M5 X 12) X2

* Knob (M8 x 20) x1
o ffEEH (M8 X 20) X1

P ey

NOA

Specifications / #1&

* Dimensions (W x H x D)
46.5 x 190 x 98 mm

Rt (BE X & X R
46.5 X 190 X 98 mm

e Suitable for pole diameter of 35 mm

* EATIRTER 35 mm

* Net weight: 0.60 kg
* %E : 0.60 kg

* Finish: Black painting

(approximate value: Munsell N3.0)

BB BEBUR

GE{ME : ZE/RN3.0)

e Material: Zinc
o MR : 5

Dimensions / ME R~
98 465 _ @52
8 || i
5.2
[NE
3 S
M8 x P1.25
?36
P42
Unit: mm
B4 : mm

English s—

ACAUTION

» Do not attach the PA-L1B pole mount adapter to any
equipment other than the VXL1 series speaker system.

- Do not mount it on an unstable pole or on a mic
stand.
This could allow the speaker to overturn, causing
breakage or internal damage, or personal injury.

* The contents of this manual apply to the latest specifications as of

the publishing date. To obtain the latest manual, access the Yamaha
website then download the manual file.

Deutsch m—

AVORSICHT

+ Bringen Sie den Stangenmontageadapter PA-L1B an keinen
anderen Gerdten als dem Lautsprechersystem der VXL1-Reihe an.

« Montieren Sie ihn nicht an einer instabilien Stange oder
einem Mikrofonstander. Dadurch konnte der Lautsprecher
umkippen, was zu Bruch- oder inneren Schaden oder zu
Verletzungen fiihren kann.

* Der Inhalt dieser Bedienungsanleitung gilt fiir die neuesten technischen Daten
zum Zeitpunkt der Veroffentlichung. Um die neueste Version der Anleitung zu

erhalten, rufen Sie die Website von Yamaha auf und laden Sie dann die Datei mit
der Bedienungsanleitung herunter.

e Francais m——

AATTENTION

« N'utilisez pas I'adaptateur de montage sur pied PA-L1B pour
d‘autres équipements que la gamme de haut-parleurs VXL1.

+ Ne pas le monter sur un pied instable ou un pied de micro.
Le haut-parleur pourrait se renverser, ce qui risquerait de
le casser, d'endommager des composants internes ou de
provoquer des blessures.

* Le contenu de ce mode d'emploi s'applique aux derniéres caractéristiques
techniques connues a la date de publication du manuel. Pour obtenir la version

la plus récente du manuel, accédez au site Web de Yamaha puis téléchargez le
fichier du manuel concerné.

Espanol s

&ATENCK’)N

+ No monte el adaptador de montaje en poste PA-L1B en
ningun otro equipo diferente del sistema de altavoces serie
VXL1.

+ No lo monte en un poste inestable ni en un soporte de
micréfono. El altavoz podria volcarse y provocar roturas,
daios internos o lesiones personales.

* El contenido de este manual se aplica a las ultimas especificaciones

segun la fecha de publicacion. Para obtener el tltimo manual, acceda al
sitio web de Yamaha y descargue el archivo del manual.

I Portugués I

ACUIDADO

« Néo fixe o adaptador de montagem para haste PA-L1B em
nenhum outro equipamento que nao seja o sistema de alto-
falantes da série VXL1.

« Nao o monte em uma haste instavel ou em um pedestal de

microfone. O alto-falante podera cair, resultando em quebras

ou danos internos, ou ferimentos pessoais.

O contelido deste manual se aplica as especificagdes mais recentes a partir da

data de publicaco. Para obter o manual mais recente, acesse o site da Yamaha e
faca o download do arquivo do manual.

*

Italiano ———

AATTENZIONE

« Non collegare I'adattatore per il montaggio su asta PA-L1B
ad apparecchiature diverse dal sistema di altoparlanti serie
VXL1.

« Non montarlo su un‘asta instabile o su un supporto per

microfono per evitare che l'altoparlante si ribalti, provocando

danni o lesioni personali.

Il contenuto del presente manuale si applica alle ultime specifiche tecniche

a partire dalla data di pubblicazione. Per ottenere la versione pili recente del
manuale, accedere al sito Web Yamaha e scaricare il file corrispondente.

*

Pyccknin so——

ABHI/IMAHI/IE

+ He ncnonb3yiite nepexopgHuk PA-L1B gna moHTaxa
Ha LWTaTVBe ANA [pYyroro 060pyAoBaHus, Kpome
aKycTnyeckom cnctembl cepmm VXL1.

He 3akpennaiiTe ero Ha HeyCTONYMBOW onope nnn
Ha MUKPOGOHHOI CTONKe. DTO MOXET NPUBECTN

K ONPOKWAbIBaHMIO AVHAMIIKA, NOJIOMKe UK
BHYTPEHHeMY NMoBpexAeHuio, a TakKe K TpaBMme.

B copepxaHun JaHHOTO PYKOBOACTBA MPUBE/AEHbI NOCTEAHME HA MOMEHT ny6anKaumm
TeXHWYECKVe XapaKTepUCTUKN. [nA Nofly4eHA NocneaHei Bepcum pyKoBOACTBa
noceTuTe BeG-caiiT Kopnopavwy Yamaha v 3arpysute ¢aiin ¢ pykoBoACTBOM.

*

s30f
A\ =2

< PA-L1B Z OF2E O{HEE VXLL A|2|= A@|H
A A 0|29 ZX|0f HX|ISHA| DAL

=oM% B £ 0F0[3 AFHEO| F&SHA| Ot
AR . A0t GO I E= LR &4

FEOHALL, HE Y5 = ASLHIC.

*

230

A B2 I WK 24 AU J|FOE o0
& UCH A4 HBME 71K 223 Yamaha A0l E0] T4 =
g YN TIYUS CfRRCYoHAR.

sl

3
A\ =

o {E19% PA-L1B FF R EEALES R EE R VXL
RYSHEUSMNIEEIRE L.
BOREETBRENFTFRERNLE L.

T RESHEIFIERZI AR . AR
ANBHE.

NE AR B IR J9 R BT S ET RO AR A
B ZE Yamaha M FERFRAERIRAS.

*

A&sE

VN3

s R—ILND Y NPSTI—PALIBlIERAE—H—YRTF
L VXLT YU —=ZXBADEDICED FFENTLEEL,

o REEBR—=ILPYAIRAY Y RAZERD R FENTLEEL,
AE—H—DEEL T, IRELEDASOBREEDIF
D, IFHELEDTBERICKEDET,

*AEF, RTBECORFEERTHELTWVEY,
BHiRlE. PY/IN\D T TYA OSSO YO—-RTEEXT,




@ YAMAHA

How to Install PA-L1B

Mounting position / Montageposition / Position de montage / Posicion de montaje / Posicao de montagem / Posizione di montaggio /

MonoxeHue moHTaxka / At YIX| / REME /WD FIF(IE

VXL1-8

VXL1-16

VXL1-24

VXL1-16P

[¢] [¢]

o, PlELN coo P[E]Y o

o eo o ° ceo b[mE]) e

o b[@E]) -o- ° 0:0@ (@] e

When using HCB-L1B

Manual Development Group
© 2018 Yamaha Corporation

Published 08/2018 2hf IPES-BO



